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 BCOS-184  

BACHELOR OF COMMERCE (GENERAL) 

(B.COM(G)) 

Term-End Examination 

December, 2022 

 

BCOS-184 : E-COMMERCE 

Time : 3 hours Maximum Marks : 100 

Note : Attempt any five questions. All questions carry 

equal marks. 

 

1. What do you mean by business model ? Explain 

the key elements of a business model.  10+10=20 

2. Elaborate various phases of Gartner’s evolution 

model of e-governance.  20 

3. (a) “ ‘EFT’ is an electronic method for 

transferring funds from one account to 

another, either within a financial 

institution or across multiple institutions.” 

Elucidate the above statement. 8  

(b) Differentiate between NEFT, RTGS and 

IMPS.  12 
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4. Explain the term ‘e-publishing’. Discuss various 

online publishing approaches.   5+15 

5. Comment on the following :  45=20 

(a) E-Financial services are an essential tool 

for economic growth.   

(b) Cyber security is the protection of computer 

systems from theft or damage to their 

hardware/software.   

(c) Websites are an important component of 

business these days.  

(d) ‘Payment gateway’ is essentially a bridge or 

connection pathway between the customers 

and the relevant financial institutions.    

6. Distinguish between any four of the  

following : 45=20 

(a) Hosted payment gateway and Self-hosted 

payment gateway  

(b) Linux and Windows  

(c) Information security and Cyber security  

(d) Spoofing and Sniffing  

(e) Offences and Punishment related to cyber 

crime  
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7. Write short notes on any four of the following :  

  45=20 

(a) Digital Signature  

(b) E-tailing  

(c) IT Act, 2000 

(d) Artificial Intelligence  

(e) Cyber Forensic 

8. Discuss the functioning of the following  

e-commerce players : 45=20 

(a) Amazon  

(b) Zomato  

(c) Book-My-Show 

(d) e-Bay 
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 ~r.gr.Amo.Eg.-184  

dm{UÁ` _| ñZmVH$ (gm_mÝ`) 
(~r.H$m°_.(Or.)) 

gÌm§V narjm 

{Xgå~a,  2022 

 
~r.gr.Amo.Eg.-184 : B©-H$m°_g© 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE & g^r àíZm| Ho$ A§H$ g_mZ  

h¢ & 

 
1. ì`dgm` _m°S>b go Amn Š`m g_PVo h¢ ? EH$ ì`dgm` 

_m°S>b Ho$ à_wI VÎdm| H$s ì`m»`m H$s{OE &  10+10=20 

2. JmQ>©Za Ho$ B©-JdZ]g Ho$ {dH$mg _m°S>b Ho$ {d{^Þ MaUm| na 
{dñV¥V ì`m»`m H$s{OE &  20 

3. (H$) ‘‘ ‘BboŠQ´>m°{ZH$ \§$S> Q>́m§g\$a (B©.E\$.Q>r.)’ EH$ 

{dÎmr` g§ñWmZ Ho$ ^rVa `m H$B© g§ñWmZm| _| YZam{e 

H$mo EH$ ImVo go Xÿgao ImVo _| ñWmZm§V[aV H$aZo Ho$ 

{bE EH$ BboŠQ>́m°{ZH$ {d{Y h¡ &’’ Cn`w©º$ H$WZ H$mo 

ñnï> H$s{OE &  8 

(I) EZ.B©.E\$.Q>r. (NEFT), Ama.Q>r.Or.Eg. (RTGS) 

Am¡a AmB©.E_.nr.Eg. (IMPS) Ho$ ~rM A§Va ñnï> 

H$s{OE &  12 
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4. ‘B©-àH$meZ’ nX H$s ì`m»`m H$s{OE & {d{^Þ Am°ZbmBZ 

àH$meZ Ñ{ï>H$moUm| H$s MMm© H$s{OE &  5+15 

5. {ZåZ{b{IV na {Q>ßnUr H$s{OE :  45=20 

(H$) Am{W©H$ {dH$mg Ho$ {bE B©-{dÎmr` godmE± EH$ 

Amdí`H$ CnH$aU h¡ &  

(I) gmB~a gwajm H§$ß`yQ>a {gñQ>_ H$s Mmoar `m j{V go 

CZHo$ hmS>©dò a/gm°âQ>do`a H$m g§ajU h¡ &  

(J) do~gmBQ> BZ {XZm| ì`dgm` H$m EH$ _hÎdnyU© KQ>H$  

h¡ & 

(K) ‘^wJVmZ JoQ>do’ A{Zdm`© ê$n go J«mhH$m| Am¡a g§~§{YV 

{dÎmr` g§ñWmZm| Ho$ ~rM EH$ goVw `m g§nH©$ _mJ© h¡ &  

6. {ZåZ{b{IV _| go {H$Ýht Mma  _| A§Va ñnï> H$s{OE : 45=20 

(H$) hmoñQ>oS> ŵJVmZ JoQ>do Am¡a ñd-hmoñQ>oS> ^wJVmZ JoQ>do  

(I) {bZŠg Am¡a qdS>moO 

(J) gyMZm gwajm Am¡a gmB~a gwajm 

(K) ñnyq\$J Am¡a pñZq\$J  

(L>) gmB~a AnamYm| go g§~§{YV AnamY Am¡a gOm  
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7. {ZåZ{b{IV _| go {H$Ýht Mma  na g§{já {Q>ßn{U`m±  

{b{IE : 45=20 

(H$) {S>{OQ>b hñVmja 

(I) B©-Q>oqbJ 

(J) AmB©.Q>r. A{Y{Z`_, 2000 

(K) Am{Q>©{\${e`b B§Q>o{bO|g 

(L>) gmB~a \$moa|{gH$ 

8. {ZåZ{b{IV B©-H$m°_g© H§$n{Z`m| H$s H$m`©àUmbr Ho$ ~mao _| 
MMm© H$s{OE :  45=20 

(H$) A_oµOm°Z  

(I) µOmo_mQ>mo  

(J) ~wH$-_mB-emo  

(K) B©-~o  


